"HIRE8 ) XHREET LGSR RE

4H A1 #87H #H B R AR BRI
NBE4H A KEECE 581,500
ANBELE e 41 e B 4:45$1,300
ANBRsE = X5 BL#5$1,100
ABRSE % ILF5EE 455900
NBAEH B % EREE
= H4E — % BEE | EEEHEEBE1007T BREINEF T2
el A BEEE | EESAEEEIEL007T TURAETE S
=l =5 Gk B2 (800 TT TS EE
= {8 % FEE FR AT EEE G T E
= H4E {5 A% BLTE B 2 1 5 ({5600 7T TRFER A G R eRE P
= B 5% HEAk TR & ReRIE P 2




"HIRE8 ) XHREET LGSR RE

&H A1 HETH #44 TSR N BRI AT
st — % HKE B 2 ({011,000 7T EBLahE
#IpéE A BRIEFE B 2 1 4 (B (00T EpL e
WIshaH = BRIER EEEAEEEK00T | BTN E R gEgheE
#Ih&E e LR B 2 e 4 (E (M 400 7T R AaThE
/NEELH — ZEARR B 2 4 (B (600 7T TCRREfTE S
/NEEH AR SIEH B 25 5 (S SO00TT ENTHE/NE
INEEZH =R =IaE B (AR5 400 7T WEE /e
/NEBGH B Fa% LHH B 2 5 (B (R AR 6 2007 KK EE TN

R 2 BRI TR ERFE  THEMRE




